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(b) Explain the concept of the conditional factor
demand. . ®)
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8. .(a) “The supply curve will coincide with the part of
the -marginal cost (MC) curve that lies above the
average cost (AC) curve.” Is this statement true?
Flaborate your answer with suitable diagram.
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(b) Define iso-quant curve with its properties with

the help of diagram. (10)

(%) “3ig ook Qe @R (MC) 9% & 99 W & WY

A @R W Aed g (AC) TF B HR Raw Y

- T U8 U G &7 IWH INE B WY FW I
= faega e

(W) A -TAiC Th T R o, T ¥ I O AR
wRefE i

(6500)

[ U SR

2o wm temeen

4 ¥

[This question paper contains 8 printed. pages.]

Your Roll No...........
Sr. No. of Question Paper : 2306 S
Unique Paper Code ': 2272202301

Name of the Paper : Intermediate Microeconomics It
Behavioural Foundations of
Market Interaction

Name of the Course : B.A. (Programme)

Semester’ ~ I

Duration : 3 Hours Maximum Marks.: 90

Use of calculator is allowed
,««"’\
Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. The question paper consists of two parts i.e., Part A"
and Part B.

3. Answer any four questions from Part A and any two

questions from Part B.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

-

paper. : s
P.T.O.




2306 , 2 2306 7

orE & fore Adr v (a) Show that if a + B < 1, the production function

_ 3 has the property of decreasing returns to scale.
1 W W-uF w e & e Ry e FeiRe e w s

aw’a;ﬁﬁaq \ : (b) Show that if o + B = 1, the production function is

. ! , constant returns to scale.
2. YRR @ R E, I VN @ SR WA @

3 SRrE ¥ el TR W SR ST E Y R A e & e (c) Show that if & + B > 1, the production function is
AR | increasing Teturns to scale. (5+5+5)
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1. (a) The curvature of the expected utility function T . W wew Vet o B B

describes the ‘corsumer’s attitudes towards risk.

(@) @E aaC @& ARk o + B =1, W SET wamT T

If consumer has-a concave utility function, will he

be considered a risk lover or a risk averter? Explain e Rt B
it with the help of the diagram. (8) (1) o B AR a N L @ e v
(b) Ravi has an income of Rs. 100. He buys apples at wed Rest 21 '
. Rs. 5 per unit and Chocolates at Rs. 4 per unit. If
the price of chocolates increases to Rs. 5 per unit / 7. (a) Define tl?e relation‘s'.h.ip betweer} Total C?Sta
and income remains constant, using diagram show Average Cost and Marginal Cost with appropriate
‘ i diagrams. (10)

the changes in his budget constraint. @)
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i (F) I IURRRAT W A Shar SuNE @ SR @
the stock market provide ways for consumers to I B m 1 i w2 AR ST § U
diversify and spread risk. Elaborate. @) ' T ST TR NN ‘ﬁf@ﬂ-ﬁfﬁm
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(b) Financial institutions such as insurance market and
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(@) A AR S P AR N R werd SR A | p
= v o 3k SRW B % A WET B BN Yy ] o "’5 (2) If utility function is giver'l as U(X,, X,) = min(X, -

# R ¥ s | 3X,); X, is quantity of good 1 and X, is the quantity

) of good 2, P, is the price of good 1 and P, is the
price of good 2. Considering P, is Rs. 2 per unit, ‘

Part B (W1 &) - P, is Rs.l per unit and Income is Rs. 140. Find

' ' the value of X, and X,. Draw appropriate diagram.

6. Consider the production function y = xpx) =% xP, . (10
where o and B are positive constants. Assume the

input prices are w, and w,. Here x, is the input 1 and . (b) Considering perfect substitute goods, if price of

X, is input 2. This production function is call'ed a Cobb- good 2 is more tha_n price of good 1, explain the

- Douglas production function. ‘ slope of price offer curve. 6)

~
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(=) aR I@fm wamw U(X,, X,) = min(X,, 3X,) &
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(a) Can an Indlfference Curve cross itself? Descrlbe
your answer emphas1zmg all properties of
Indifference Curve. - (10)

(b) What is the definition of ~nu;nerai1fe good. ©))
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4.

.

(a) Labour suppfy is an interesting example of the.
interaction of income effect and substitution effect
Due to the inferaction of these two effects, the:
response of labour supply to a change in the wage
rate is ambiguous. Explain it with the help of
appropriate diagrams. (10)

(b) All giffen goods are inferior goods, but all inferior
goods are not giffen goods. Explain it. ° (5)

(F) quﬁammaaﬂwﬁwmmﬁwﬁm
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5.

(a) Originally- the consumer faces the budget line
P X,+ P, X, = M. P, is the price of goodl, P, is
the price of good 2 and M is the income. X is the .
quantity of good 1 and X, is the ciuantity of good
2. If the, price of Good 1 doubles and the price of
Good.2 triples, does the budget line become flatter
or steeper? Draw the appropriate . dlagram (8')
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